520 Munsell System Y,,,=100
7 NM,..C=2, V=1, 2,5,8&9, Mex
mcslgroomaticity diagram (x, y)
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Xw=96,79,Y,,=100,00Z,,~111,46 B*

xW—O 3140y,,=0,3243

0=(@020 120 v 20, V1Y /Y193
0—(b0 bo,11+Do,v+00,)Y16(Y/Y19)

89 = ago [x/Y]
by = by [2M]
a0= 1, by = ~0,4

n = Mex =
g y=agy(Y/Y1g~1)
bo,y=boy(Y/Y1g-1)
ayy=0,021,b,y=0,024
apA=-0,031,by ,==0,029
Munsell System Y,,=100

C=2,V=1,2,5,8 &9, Mex

chroma (A*g, B*q)

™
U/
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Xw=96,79 Yy=100,00Z,=111,46 B*
Xy,=0,3140y,,=0,3243

A*1=(@g-ay yray y+ag o) YieY/Y19) 13
B*1=(b1—by by y+by ) V1g(Y/ Y1913
8y =2y [(x-0,17Dh]

by =byo [2M]

ay =1, byp=-0,4
Mr1=1,000b7,=0,171 ,

n = Mex =

g y=agy(Y/Y1g~1)

by y=boy(Y/Y14-1)
ayy=0,021,,y=0,024

a; A=-0,031,b; ,=-0,029
Munsell System Y,,=100
C=2,V=1,2,5,8 &9, Mex
chroma (A*4, B*;)

-10
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X,=96,79,Y,,~100,007,~111,46 B*,

xW—O 3140y,,=0,3243

8 = a0 [(x-0,171y]
b,=ba0 [(Mp1x+bp1)/Y]
ay =1, byp=-0,4
Mp;=-0,169,0p,=0,389

n = Mex
az,Y=azv(Y/Y18‘1)

by y=boy(Y/Y1g-1)
ayy=0,021,b,y=0,024

a, A==0,031,b, ,==0,029
Munsell System Y,,=100

T10
7 (agap n+3g v+ W Y16(Y/Y19) 13
2—(b2 Dy, +Da.y+0, ) Y15(Y/Y19) /3
{ >
NS 10
Mex
T-10

C=2,V=1,2,5,8 &9, Mex
chroma (A*,, B*,)

BE661-4A 6




X4=96,79,Y,,=100,00Z,~111,46 B*

xW—O 3140y,,=0,3243

3=(8g-ag1+85 v +ag ) V1g(Y/ Y1913
B y=(bs-bs it y o WYY a9 L3

a3 = a0 [(x-0,17/y]
b3=ba [(Mp1x+bp1)/y]
ay =1, byp=-0,4
Mp=-0,974b,=0,658

T10

n = Mex
as,Y=azv(Y/Y18‘1)

b y=boy(Y/Y1g-1)
2yy=0,021,b,y=0,024

a3 o=-0,031,b3 ,=-0,029
Munsell System Y,,=100

C=2,V=1,2,5,8 &9, Mex

chroma (A*3, B*3)

(&

r—-10

BE661-5A 6




Xa=96,79Y,~100,00Z,~11146 B*,
xW—O 3140y,=0,3243 E
@aau 3 yag ) Y1s(YY19 M3
4—(b4 by #bg y+ba, " Yas(YIY19 L3
8y = a0 [(x-0,1791y] 1
b=ba0 [(Mp1x+bp1)/Y]

ay =1, byp=-0,4 A*
Mp1=—0,169bp;=0,389 4
n = Mex -10 10
8y y=agy(Y/Y1g~1) hex

by y=boy(Y/Y1g-1)
ayy=0,021,b,y=0,024

ay A=-0,031,b, ,==0,029
Munsell System Y,,=100
C=2,V=1,2,5,8 &9, Mex T-10
chroma (A*4, B*4)
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X,=96,79,Y,,~100,007,~111,46 B*_

xW—O 3140y,=0,3243
5=(86 85 172,25 V1ol YY1 1S
5—(b5 Bg n+bs v +bs A)Y1(Y/Y19)
a5 =ag [(x-0,17D/y] i
bs=ba [(Mp1x+bp1)/y]

ay =1, byp=-0,4
Moi=-097400,=0658 V:d))

T10

n = Mex _10 ) (@

a5 y=ayy(Y/Y1g~1)

bs y=boy(Y/Y1g-1)
apy=0,021,b,y=0,024

ag 4=-0,031bg 4=-0,029
Munsell System Y,,=100
C=2,V=1, 2,5,8&9, Mex T

r—-10

chroma (A*s, B*5)
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X,=96,79,Y,,=100,007,~111,46 B*_

XW—O 3140y,,=0,3243
67(3686 11786 v +36, ) V1o Y/ Y19 L/3

6—(b6 b, 1+, v+, Y15(Y Y19 1/3
g = ago [x/Y] i
be=ba [(Mp1x+bp1)/y]
a0= 1, byo= 0,4
Mpy=-0,974,bn;=0,658
n = Mex -10
ag y=ay(Y/Y1g-1)
be,y=boy(Y/Y1g-1)
ayy=0,021,b,y=0,024
ag A=—0,031,bg 4=-0,029
Munsell System Y,,=100
C=2,V=1, 2,5,8&9, Mex T

T10

A*
10

r—-10

chroma (A*g, B*g)
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